co 202 15E #MISKERIGHFKE (2.715)

BB /HBE

= 2l 2 & SR ES I
2| Zlo| — | 5e | 58 | gy |5 |wee| v [RTEOTHETN ) e | gy | 4. [SE eee| e PRSEEORECGR
| TR L N[ A s e | ORI el s [ B ap | | ma | wew | ew | 00T | e | BR ) am | s
TFm |Bes 132| 297| 2.25 -4{24.9 | 1.69 1= 2.24 |1.61 [1.50 122| 238| 1.95 -4/13.9 |1.68 1= 2.05 |1.72 |1.59
ol MUE 132| 165/ 1.25 -1] 3.0 |1.21 5 |1.85 | 1.45 [1.43 122| 177|145 | +13| 2.3 |1.42 1= 1.75 | 1.70 | 1.67
b = @) 107| 221)2.07 | -17| 7.7 |1.91 |#& 1.88 [1.69 |1.87 99| 296/ 2.99 | -32| 8.8 [2.73 |#% 2.42 |2.21 [ 1.94
I%E KH 5 (@) 116/ 179 1.54 +7] 8.9 |1.41 1= 1.94 | 1.72 | 1.68 107| 154| 1.44 +9] 5.2 |1.36 5 |1.70 | 1.59 | 1.57
1l BN HAEHRAHE *|O 88| 180/ 2.05 | -17| 7.2 [1.90 | i 2.20 |2.01 |2.11 82| 177/ 216 | -10| 5.6 [2.04 | i 2.23 [2.06 [1.97
té&'.:ﬂl Kig O 116/ 170| 1.47 -4] 7.6 |1.35 1= 1.83 |1.68 |1.54 107| 127/ 1.19 -3] 6.3 |1.11 5 |1.32 [1.22 | 1.34
Y11 VAN * 78 82| 1.05 +2| 9.8 10.95 2]1.19 | 1.06 | 1.00 72 72| 1.00 +0| 4.2 [0.96 +]0.89 |0.85 | 1.00
KH & 82 60| 0.73 +2| 3.3 |0.71 £10.70 | 0.66 | 1.00 76 38| 0.50 +0| 2.6 [0.49 +]0.86 |0.83 | 1.00
KH SEH * 45 39| 0.87 +1] 5.1 ]0.82 +]1.69 | 1.56 | 1.40 42 33| 0.79 +0| 3.0 [0.76 +]0.90 |0.88 | 1.00
#E  |FuWl 132| 289|219 | -10]19.7 |1.76 | &% 2.48 |1.95 | 1.90 122| 243| 1.99 -6 9.9 |1.80 | 2.08 [1.87 [1.82
mr o |FW 130 261| 2.01 +6]12.6 |1.75 | % 2.38 |1.97 [1.94 120 293| 2.44 | -10| 5.8 |2.30 |#& 2.25 [2.13 [2.07
AR |55 115 221|192 | -15| 8.1 [L.77 | i 1.41 [1.29 |1.26 107| 208| 1.94 | -18| 3.8 [1.87 | i 1.65 [1.63 |1.61
';'S AR |BE @) 99| 173 1.75 +2[20.8 | 1.38 1 1.83 | 1.39 |1.53 92| 194| 2.11 -3| 4.6 |2.01| % 1.96 | 1.86 | 1.61
2 len  |BR @) 79| 140| 1.77 =-3]10.0 |1.59 | % 1.88 [1.65 |1.84 73] 171) 234 | -10] 8.2 [2.15 | i 2.26 |2.04 |1.80
téﬁﬂﬂ’ﬁ IR O 82 89| 1.09 +2]10.1 |0.98 5 |1.49 [1.30 | 1.45 76| 129] 1.70 -2| 2.3 |1.66 1 1.92 (1.86 |1.60
A |4ET @) 132| 129/ 0.98 | +22| 5.4 |0.92 S |1.20 | 1.09 [1.21 122| 159| 1.30 +6] 3.1 ]1.26 5 |1.60 [1.53 |1.32
A | FRE O|-1 99| 114]| 1.15 -6] 4.4 |1.10 5 |1.32 [1.25 | 1.38 92| 139| 1.61 | -23] 2.9 [1.47 1= 1.50 |1.45 |1.28
tEA |iFER *[O 75 59| 0.79 +7] 6.8 |0.73 +]0.97 |0.87 | 1.00 68 64| 0.94 +9]| 7.8 ]0.87 +]0.97 |0.86 | 1.00
LA A I 132| 204| 1.55 -2|12.7 |1.35 1= 1.90 | 1.60 |1.52 122| 206 1.69 -1] 7.8 |1.56 1 1.86 [1.70 |1.60
Bt |EBE 132| 262| 1.98 -5|14.9 |1.69 | % 2.00 |1.67 | 1.65 122| 206| 1.69 | +10] 4.9 |1.61 1 1.85 [1.73 | 1.72
s | KR 31 41| 1.32 =2|17.1 ]1.10 5 |1.16 0.87 | 1.00 31 38| 1.23 -6| 7.9 ]1.13 5 10.74 0.68 | 1.00
TE B B - - 1.32 | 1.00 | 1.00 BE&EEsL - - 1.23 [0.97 [1.00
|[HE |HE ©) 116| 194/ 1.67 | =1[11.9 |1.47 1 1.70 | 1.47 [1.62 | 107| 215/ 201 | -12| 4.7 [1.92 | # 1.90 | 1.78 [1.56
’fﬁﬁaﬂ; A 115 231|201 | -31| 7.8 |1.85 | Gk 1.92 (1.77 | 1.75 107| 207| 1.93 -9| 4.3 |1.85 | 1.91 [1.81 |1.80
28 (A AN b i O|-1] 118 140| 1.21 -4]13.6 |1.04 5 |1.47 [1.27 |1.23 107 1271119 | +11] 6.3 [1.11 5 11.30 [1.24 |1.24
Blpe |2 @) 132| 168| 1.27 | +14] 5.4 |1.20 1= 1.58 | 1.49 | 1.59 122| 185/ 1.52 +8] 2.7 |1.48 1= 1.63 | 1.58 |1.44
e |BE @) 115 166| 1.44 -8| 5.4 |1.37 1= 1.47 |1.37 [ 1.51 107| 180| 1.68 | -22| 1.1 |1.66 1= 1.79 | 1.77 | 1.56
s R 96 89| 0.93 | +13| 4.5 [0.89 2]1.15 | 1.08 | 1. 00 89 68/ 0.76 | +13| 1.5 (0.75 £]0.91 |0.90 | 1.00
e |EE Of-t 99| 107/ 1.08 | -13] 0.9 [1.07 5 |1.06 | 1.04 [1.00 92| 115/ 1.25 +5] 1.7 ]1.23 % 10.92 |0.89 [1.00
s A * 42 31| 0.74 +7] 3.2 |0.71 211,19 | 1.17 | 1.17 39 39| 1.00 +5] 2.6 |0.97 4]1.03 | 1.00 | 1.00
S'G  L 92| 181] 1.97 +1] 6.6 |1.84 | % 1.65 | 1.54 | 1.51 86| 178| 2.07 -8] 5.1 |1.97 | 2.09 |1.95 | 1.91
G B 132| 203| 1.54 | -14] 4.9 |1.46 1= 1.42 |1.33 | 1.31 122| 215/ 1.76 +4| 2.8 |1.71 | % 1.56 | 1.50 |1.48
mlEs  |xX=E O 148 192| 1.30 | +10| 6.8 [1.21 1% 1.34 [1.25 [1.38 | 137| 205 1.50 | +12| 3.9 |1.44 1% 1.73 [1.67 [1.50
’f%% 2 @) 15| 226/ 1.97 | -17] 8.0 |1.81 | % 1.79 [1.64 |1.80 107| 181| 1.69 +2| 2.2 |1.65 1 1.97 [1.93 |1.73
230w AR @) 115 153| 1.33 +9| 5.9 |1.25 12 1.41 | 1.31 | 1.45 107| 209| 1.95 -1| 2.4 |1.91 | % 2.04 |1.96 [1.75
Bl |=s 132| 139| 1.05 | +14] 6.5 |0.98 2]1.46 |1.34 |1.33 122 111/ 0.91 | +19]| 1.8 |0.89 £1.26 |1.24 |1.22
B |RAE 116| 186/ 1.60 | -20| 2.7 |1.56 1= 1.52 [ 1.47 |1.44 107| 182| 1.70 | -21| 2.2 |1.66 1= 1.41 |1.36 | 1.34
I PN * O 72 78| 1.08 +4] 5.1 ]1.03 5 |1.08 | 1.01 [1.09 66 790120 | -10] 1.3 |1.18 5 |1.17 | 1.15 | 1.07
= HES 31 58| 1.87 +1] 5.2 | 177 | % 1.23 [1.10 |1.03 31 52| 1.68 +0| 5.8 [1.58 1= 1.45 (1.29 | 1.21
= et 54 132| 232|1.76 | -13| 6.9 |1.64 L 2.00 |1.82 [1.79 122| 271|222 | -23| 1.8 |2.18 |#& 1.89 [1.82 |1.80
JEAVAR Piit (4 @) 132| 178/ 1.35 +5| 5.1 |1.28 5 |1.60 |[1.52 |1.43 122| 144/ 118 | +12| 0.7 |1.17 5 |1.40 [1.39 |1.46
glesr R 115 151 1.31 +1] 0.7 [1.30 1% 1.44 |1.43 [1.41 ] 107 152| 1.42 +8| 0.7 [1.41 1% 1.73 [ 1.71 [1.69
’fm\‘/: BMHE *x|O|-1 93| 113/ 1.22 | +14| 0.9 [1.20 L 1.05 [1.03 [1.13 86| 100/ 1.16 | +10| 2.0 |1.14 5 |1.24 |1.22 [1.11
oY PV A Pk 82| 125/ 1.52 | -32| 2.4 |1.49 1 1.13 | 1.10 | 1.08 76| 120| 1.58 -1] 0.8 |1.57 1 1.46 | 1.45 | 1.43
= POTT UV * 58 66| 1.14 | +12| 3.0 [1.10 S |1.26 |1.19 [1.19 54 75 1.39 =7] 1.3 ]1.37 1= 1.81 |1.78 | 1.75
RV P ban *[O|-1 74 95| 1.28 +5] 1.1 |1.27 S |1.02 |1.01 [1.11 68 61| 0.90 +2| 1.6 |0.88 2]1.14 |1.14 | 1.04
By |EH * |Of-1 72 75( 1.04 | +11| 1.3 [1.03 #]1.08 | 1.05 | 1.00 66 58| 0.88 -1] 1.7 ]0.86 +]0.89 |0.86 | 1.00
By |RIE x 50 41| 0.82 +1] 2.4 ]0.80 211.62 | 1.60 | 1.60 46 46| 1.00 +1] 2.2 |0.98 2]1.48 | 1.41 | 1.41
B mE 31 43| 1.39 +2|11.6 |1.23 S |1.23 | 1.00 [1.00 31 34/ 1.10 +0| 8.8 [1.00 2]1.35 | 1.06 | 1.06
Wl (I VYN 132| 196 1.48 -5] 3.6 |1.43 1= 1.47 |1.40 | 1.38 122| 168 1.38 +2| 3.6 |1.33 1= 1.42 |1.37 | 1.35
IH R 132| 250 1.89 -6| 3.6 |1.83 | 1.80 [1.73 |1.70 122| 240| 1.97 -4] 1.7 |1.93 | % 1.74 | 1.70 | 1.68
RN IR NI @) 132| 232| 1.76 -4] 3.9 |1.69 | % 1.85 [1.78 | 1.79 122| 169 1.39 -4 1.2 1.37 1= 1.81 [1.80 [1.73
fany . b @) 96| 178] 1.85 -4| 5.6 |1.75 | 1.78 [1.67 |1.76 89| 179| 2.01 | -13| 0.6 [2.00 | i 1.69 | 1.67 |1.45
glre = O 99 1221 1.23 | +17| 3.3 [1.19 1% 1.58 [1.52 [1.53 92/ 118/ 1.28 | +17| 1.7 [1.26 S |1.53 [1.49 [1.43
%%Eﬂ FNGY @) 99| 170| 1.72 | -14] 5.9 [1.62 1= 1.68 |1.58 |1.56 92| 190| 2.07 | -23] 0.5 [2.05 |i#% 1.91 | 1.89 |1.87
=3 WDl P\Y = @) 148 230| 1.55 -2| 1.7 |1.53 12 1.68 |1.63 | 1.75 137| 257| 1.88 +5| 1.6 |1.85 | % 1.67 | 1.64 | 1.50
S PRI b3 99| 144| 1.45 -3| 2.8 |1.41 L 1.83 [1.76 |1.74 92| 134/ 146 | -16] 2.2 [1.42 1 1.47 [1.43 |1.40
wi | SEmE O|-1] 16| 129/ 1.11| +18] 1.6 |1.09 5 |1.17 [ 1.14 | 1.00 107 101/ 0.94 | +12| 1.0 |0.93 % 10.89 [0.87 | 1.00
TR | 116/ 126/ 1.09 +4] 0.8 |1.08 2]1.25 | 1.24 | 1.22 108 98/ 0.91 | +16] 1.0 [0.90 £]1.20 |1.19 | 1.16
B BEE  *(O 91 94| 1.03 +1] 3.2 |1.00 5 |1.21 | 1.15 | 1.28 85| 132|155 | -15| 0.8 |1.54 1 1.85 [1.82 |1.65
wi |mEf  *[O 84| 113/ 135 | -13| 2.7 |1.31 1= 1.29 |1.24 |1.37 78| 105 1.35 +3] 1.0 |1.33 1= 1.53 | 1.50 | 1.31
WD b)) O 100, 106 1.06 +1] 3.8 |1.02 £]1.07 | 1.02 | 1.00 92 89| 0.97 +5] 3.4 ]0.93 +]0.99 |0.93 | 1.00

<E>OMFABNFEEER, [BLARMOTONIBLAEBF OEMEHERTT . QNBHISHEFBROGEREDOLETT,
QUIEEEIEERITBEDZREEENSHETEL-FEENT, MEEIREELMHERIER IZBLIHELTVES,
@TFRH S |FHEERREEOR, ZREDSELULATERICGDETFTESNDBETBUE, 4B ERERIEDETFEESNDGETH ), 28U LENR, ThUTENS),
ZRELENERTILEFEENSEETEIELELZ, ONRO20FEEOEEIIHEENSEETT.




